Police Recruitment Test : 2016

15th May 2016, 02:00 PM
Topic:- English
1)
Question Stimulus :-

Fill in the blank with the correct option.

Netaji, the hero of Modern India, remembered.
* ought to be
¢ ought not to be
* might be
¢ shall have
Correct Answer :-ought to be
2)
Question Stimulus :-

Fill in the blank with the correct option.

Children taught to honor other people's opinions.
®* need to be
®* needs be
* needs to be

®* needs to have
Correct Answer :-need to be
3)
Question Stimulus :-

Fill in the blank with the correct option.

You laugh at the mistakes of others.

® cannot

()



* might not

* should not

* could not
Correct Answer :-should not
4)
Question Stimulus :-

Fill in the blank with the correct preposition.

There was no soap, so I just quickly rinsed my hands the tap.

®* under

¢ over

e above

* by
Correct Answer :-under
5)
Question Stimulus :-

Fill in the blank with the correct preposition.

Archaeologists discovered a gold cup just
villa.

* beneath

® across

e beyond

o off
Correct Answer :-beneath
6)

Question Stimulus :-

Fill in the blank with the correct preposition.

©)

the surface at the site of a Roman



Inflation has fallen 5% for the first time in six years.
* above
* below
* over
® across
Correct Answer :-below
7)
Question Stimulus :-

Fill in the blank with the correct preposition.
The vegetables were cut ___ the maid _____ a sharp knife.
e by, with
e from, with
e off, with
* by, from
Correct Answer :-by, with
8)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e When we arrived at the station,
® the train
¢ have already left.
®* No error
Correct Answer :-have already left.
9)

Question Stimulus :-
4)



DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

o William felt ill last night,

® because he has eaten,

¢ a large number of cakes and pastries.

* No error
Correct Answer :-because he has eaten,
10)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

* If she had studied hard,
* she would have passed
¢ the English Language Test for the eligibility of Management Exams.
* No error
Correct Answer :-No error
11)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e T will call the instructor
® as soon as
e I will reach home.

* No error

Correct Answer :-I will reach home.
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12)
Question Stimulus :-
DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.
®* You have been
e watching TV
® since the last five hours.
* No error
Correct Answer :-since the last five hours.
13)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

®* Rebecca is one of
* the most beautiful girls
* of her class.
* No error
Correct Answer :-No error
14)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e As soon as she
e got out of the bed
® the telephone stopped ringing.

* No error
(6)



Correct Answer :-No error

15)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e You won't lose any weight

® unless you start

¢ eating an healthier food.

* No error
Correct Answer :-eating an healthier food.
16)

Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

My book has been stolen.

e Someone steals my book.

¢ Someone stole my book.

* Someone had stolen my book.

* Someone has stolen my book.
Correct Answer :-Someone has stolen my book.
17)

Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

English is spoken in England.
¢ People in England generally always speak English.

e People in England are speaking English.

(7)



* People in England speak English.

* People in England speaks English.
Correct Answer :-People in England speak English.
18)

Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

The firewood is being cut by the woodcutters.

* The woodcutters cut the firewood.

e The woodcutters are cutting the firewood.

* The woodcutters have cut the firewood.

* The woodcutters have been cutting the firewood.
Correct Answer :-The woodcutters are cutting the firewood.
19)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

Susan said to me, “you have been a very helpful person”.

e Susan told me that I have been a very helpful person.

* Susan told me that I was a very helpful person.

®* Susan told me that I had been a very helpful person.

e Susan told me that I was being a very helpful person.
Correct Answer :-Susan told me that I had been a very helpful person.
20)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

(8)



He said to me, "I do not trust you”.

He told me that he does not trust me.

He told me that he did not trust me.

He told me that he will not trust me.

He told me that he had not trusted me.

Correct Answer :-He told me that he did not trust me.

21)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

Patrick said, "I am going to finish this work now before I start a new work tomorrow”?

Patrick said that he is going to finish this work now before he started a new work
tomorrow.

Patrick said that he was going to finish that work now before he started a new
work the next day.

Patrick said that he was going to finish that work then before he started a new
work the next day.

Patrick said that he was going to finish that work then before he started a new
work tomorrow.

Correct Answer :-Patrick said that he was going to finish that work then before he
started a new work the next day.

22)

Question Stimulus :-

Choose the grammatically correct sentence.

I saw an one-eyed man trying to cross the road yesterday.
I saw a one-eyed man trying to cross the road yesterday.
I saw the one-eyed man trying to cross the road yesterday.

I saw one-eyed man trying to cross the road yesterday.

©)



Correct Answer :-I saw a one-eyed man trying to cross the road yesterday.

23)
Question Stimulus :-
Fill in the blank with the correct option.

My neighbour was one of _____ truly evil men I had ever encountered.
e few
°* afew
* the few
® the little
Correct Answer :-the few
24)
Question Stimulus :-

Fill in the blank with the correct option.

Tourists and locals alike last night flocked to the pub to see if they could capture
of the magic.

* a little

o few

¢ the few

e afew
Correct Answer :-a little
25)
Question Stimulus :-

Fill in the blank with the correct option.

There was a flood, but water actually got into the house.
o little

e a little
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o few
o the little

Correct Answer :-little

26)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and answer the questions given
below it.

Long, long ago in a big forest, there were many trees, among the cluster of trees, there
was a very tall pine tree. He was so tall that he could talk to the stars in the sky. He
could easily gaze over the heads of the other trees. One day, late in the evening, the
pine tree saw a little girl approaching him.

He could see her only because of his height. She was in tears. The pine tree bent as low
as he could and asked the weeping girl. ‘What is the matter? Why are you crying?’ the
little girl, still sobbing replied, ‘I was gathering flowers for the goddess Durga, Who I
believe, would help my parents to overcome their poverty and I have lost my way’.
The pine tree said to the little girl, ‘It is late in the evening. It will not be possible for
you to return to your house, which is at the other end at the forest. Sleep for the night
at this place.’ The pine tree pointed out to an open cave-like place under him. The little
girl was frightened of wild animals.

The girl quickly crept into the cave-like place. The pine tree was happy and pleased
with himself. He stood like a soldier guarding the place. The girl woke up in the
morning and was amazed to see the pine tree standing like a guard outside the cave.
Then her gaze travelled to the heap of flowers that she had gathered the previous
night. The flowers lay withering on the ground. The pine tree understood what was
going on in the girl’s mind. He wrapped his branches around the nearby flower trees
and shook them gently. The little girl’s eyes brightened. But a great surprise awaited
her. The pine tree brought out a bag of gold coins which had been lying for years in the
hole in its trunk and gave it to the girl. With teary eyes she thanked her benefactor and
went away.

Why was the little girl crying?
e Because while gathering flowers for worship she lost her way in the dense forest.
e Because the flowers she had collected had decayed.
* Because she was afraid of tall trees.

e All of the above

Correct Answer :-Because while gathering flowers for worship she lost her way in the
dense forest.
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27)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and answer the questions given
below it.

Long, long ago in a big forest, there were many trees, among the cluster of trees, there
was a very tall pine tree. He was so tall that he could talk to the stars in the sky. He
could easily gaze over the heads of the other trees. One day, late in the evening, the
pine tree saw a little girl approaching him.

He could see her only because of his height. She was in tears. The pine tree bent as low
as he could and asked the weeping girl. ‘What is the matter? Why are you crying?’ the
little girl, still sobbing replied, ‘I was gathering flowers for the goddess Durga, Who I
believe, would help my parents to overcome their poverty and I have lost my way’.
The pine tree said to the little girl, ‘It is late in the evening. It will not be possible for
you to return to your house, which is at the other end at the forest. Sleep for the night
at this place.’ The pine tree pointed out to an open cave-like place under him. The little
girl was frightened of wild animals.

The girl quickly crept into the cave-like place. The pine tree was happy and pleased
with himself. He stood like a soldier guarding the place. The girl woke up in the
morning and was amazed to see the pine tree standing like a guard outside the cave.
Then her gaze travelled to the heap of flowers that she had gathered the previous
night. The flowers lay withering on the ground. The pine tree understood what was
going on in the girl’s mind. He wrapped his branches around the nearby flower trees
and shook them gently. The little girl’s eyes brightened. But a great surprise awaited
her. The pine tree brought out a bag of gold coins which had been lying for years in the
hole in its trunk and gave it to the girl. With teary eyes she thanked her benefactor and
went away.

Which word in the passage means ‘the state of being extremely poor’?
e Approach
® Poverty
® Overcome
* Benefactor
Correct Answer :-Poverty
28)

Question Stimulus :-

DIRECTIONS: Read the following passage carefully and answer the questions given
below it.

(12)



Long, long ago in a big forest, there were many trees, among the cluster of trees, there
was a very tall pine tree. He was so tall that he could talk to the stars in the sky. He
could easily gaze over the heads of the other trees. One day, late in the evening, the
pine tree saw a little girl approaching him.

He could see her only because of his height. She was in tears. The pine tree bent as low
as he could and asked the weeping girl. ‘What is the matter? Why are you crying?’ the
little girl, still sobbing replied, ‘I was gathering flowers for the goddess Durga, Who I
believe, would help my parents to overcome their poverty and I have lost my way’.
The pine tree said to the little girl, ‘It is late in the evening. It will not be possible for
you to return to your house, which is at the other end at the forest. Sleep for the night
at this place.’ The pine tree pointed out to an open cave-like place under him. The little
girl was frightened of wild animals.

The girl quickly crept into the cave-like place. The pine tree was happy and pleased
with himself. He stood like a soldier guarding the place. The girl woke up in the
morning and was amazed to see the pine tree standing like a guard outside the cave.
Then her gaze travelled to the heap of flowers that she had gathered the previous
night. The flowers lay withering on the ground. The pine tree understood what was
going on in the girl’'s mind. He wrapped his branches around the nearby flower trees
and shook them gently. The little girl’s eyes brightened. But a great surprise awaited
her. The pine tree brought out a bag of gold coins which had been lying for years in the
hole in its trunk and gave it to the girl. With teary eyes she thanked her benefactor and
went away.

What is the meaning of the word ‘wither’?
* Blush
* Bloom
®* Dry
* Move

Correct Answer :-Dry

29)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and answer the questions given
below it.

Long, long ago in a big forest, there were many trees, among the cluster of trees, there
was a very tall pine tree. He was so tall that he could talk to the stars in the sky. He
could easily gaze over the heads of the other trees. One day, late in the evening, the
pine tree saw a little girl approaching him.

He could see her only because of his height. She was in tears. The pine tree bent as low
as he could and asked the weeping girl. ‘What is the matter? Why are you crying?’ the

(13)



little girl, still sobbing replied, ‘I was gathering flowers for the goddess Durga, Who I
believe, would help my parents to overcome their poverty and I have lost my way’.
The pine tree said to the little girl, ‘It is late in the evening. It will not be possible for
you to return to your house, which is at the other end at the forest. Sleep for the night
at this place.’ The pine tree pointed out to an open cave-like place under him. The little
girl was frightened of wild animals.

The girl quickly crept into the cave-like place. The pine tree was happy and pleased
with himself. He stood like a soldier guarding the place. The girl woke up in the
morning and was amazed to see the pine tree standing like a guard outside the cave.
Then her gaze travelled to the heap of flowers that she had gathered the previous
night. The flowers lay withering on the ground. The pine tree understood what was
going on in the girl’s mind. He wrapped his branches around the nearby flower trees
and shook them gently. The little girl’s eyes brightened. But a great surprise awaited
her. The pine tree brought out a bag of gold coins which had been lying for years in the
hole in its trunk and gave it to the girl. With teary eyes she thanked her benefactor and
went away.

Why did the girl agree to take shelter in the night in an open cave-like place under the
tall pine tree?

e Because she found the beautiful pine tree highly fascinating.
* Because she was afraid of wild and ferocious animals.
* Because she was spell bound by the magical powers of the pine tree.

* None of the above

Correct Answer :-Because she was afraid of wild and ferocious animals.

30)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and answer the questions given
below it.

Long, long ago in a big forest, there were many trees, among the cluster of trees, there
was a very tall pine tree. He was so tall that he could talk to the stars in the sky. He
could easily gaze over the heads of the other trees. One day, late in the evening, the
pine tree saw a little girl approaching him.

He could see her only because of his height. She was in tears. The pine tree bent as low
as he could and asked the weeping girl. ‘What is the matter? Why are you crying?’ the
little girl, still sobbing replied, ‘I was gathering flowers for the goddess Durga, Who I
believe, would help my parents to overcome their poverty and I have lost my way’.
The pine tree said to the little girl, ‘It is late in the evening. It will not be possible for
you to return to your house, which is at the other end at the forest. Sleep for the night
at this place.’ The pine tree pointed out to an open cave-like place under him. The little
girl was frightened of wild animals.

(14)



The girl quickly crept into the cave-like place. The pine tree was happy and pleased
with himself. He stood like a soldier guarding the place. The girl woke up in the
morning and was amazed to see the pine tree standing like a guard outside the cave.
Then her gaze travelled to the heap of flowers that she had gathered the previous
night. The flowers lay withering on the ground. The pine tree understood what was
going on in the girl’s mind. He wrapped his branches around the nearby flower trees
and shook them gently. The little girl’s eyes brightened. But a great surprise awaited
her. The pine tree brought out a bag of gold coins which had been lying for years in the
hole in its trunk and gave it to the girl. With teary eyes she thanked her benefactor and
went away.

What is the meaning of the word 'sobbing'?
* to get extremely frightened.
®* To stare at something.
* To cry noisily, taking in deep breaths.
®* None of the above
Correct Answer :-To cry noisily, taking in deep breaths.

Topic:- Hindi
1)

Question Stimulus :-

Frafafea T @1 wrgde ted S A fad T Tgfaedd uxAl # Wel e o1 999 S|

URIF®d H S-% AeRIS fdeg § ¥ed Hd A1 fuider fadg &1 ywari &1 ffder 7+t & Ioved & om-urg
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Correct Answer :-farfyar

2)
Question Stimulus :-

fFafafEd Y @1 aFYde Yedk SHd i fdd T agfawed! u=Al § 98 fiee 31 9T SR

UTSTd § o1 HeRTS fdds § sy ®ed A1 Ffar fage & st &1 e R § Iowea & om-ur
ﬂﬁiwwwﬁm}aﬁwﬁ?ﬁmaﬂlﬁm%ﬁwﬁqwaﬁwmmwﬁWWWWW
ST € 7% HeR™ SF @ 3 ¥1 3 39 avE Ie-PN Tdd A, AF W WA & Faia Sao €1 gag ¥ 91
wqﬁmmwumﬁ,mﬁﬁm Eb_{?r,GFRT DI &8 Id, ANP-PIV P SUN Hd MR AT 99 PO
A R WY 9 f5ft Tiaie o # fora 18 ngﬂ%ﬁﬁﬂ%ﬂﬁﬁéﬁﬁﬁﬁﬁ%m

ISR & ANT-UTE 5 @il 3t piear dz
* BHRI Pt
o TRyl B
o IFaM Bt
o T A I T
Correct Answer :-d=i¥dl &1
3)

Question Stimulus :-

FafafET T @) aryde Teet 39 T 3 T agiiealt el § 98 fAwe &1 997 31|

UrEieTd o9 AR fade § Uy $d A1 frfien fade <1 g O e T A Icmed & smra-ure
D3 TP OIR G-ATal o T 281 fIfyer & RismE IR 969 R WY WeR™ W9® &1 BHRI T WP AT Fel
1T € % HeRI™ o9e F &1 3 39 9RE I9-$N Tde A, THE! W0 WRATAT & fFaiia Ga@ &1 a8 ¥ 9
% AR AT B Y94 HYd, T3 BT U1 FYd, 3wl B &8 dd, Aip-$earn S IUE P R A 99 O
meﬁaﬁvﬂmaﬁﬁﬁﬁrqﬁiﬁ%msﬁl%nzt-ﬁﬂdqqnﬁ%gwwmﬁm

HERT W% P! T b UT?
o Y P BT
* IT N DI

o BHRI T
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o AH-HI Bl
Correct Answer :-G&HR BT
4)

Question Stimulus :-

Fafifaa Y @) ayde gger 3% A Rl T agfawad u=Al § 98t fiee 31 3w S

TS d S AR fagg # 0 ovd A1 e fags &1 ysrur i fafler ) § Iwga & sma-ure
DI TP R TRl @t yuigfear &1 fifyer & Rizrs R 987 W W} WeR™ 9@ &1 BBt &1 WP ATl Fel
1T € % UeRT™ 99 F &1 3 39 9RE I-$N Td A, M W@ WA & i Ga@ €1 a8 @ 9
% TN AT BT UGY DI, WFAT BT UdT B, ORIEA B <8 39, AP-Pedrvl & IUW $J AR I I $D
B IR ot 3 fdt Tiaie o1 & forw =81 g A1 safee @Rt S9! fadg w9 wed Al

HERTS W= URATHT H SUAT T HaY T&@d & ?
qae ST

37y ST

TSI ST

Swfad ot
Correct Answer :-3d% 9T

5)
Question Stimulus :-
fFafafea Y @ aFYde dge Sd i i T agfawed! u=Al § 93 fiee 31 99 S

UTRIF®E # 9% HeR™ fadg # 39 oxd d1 e fadg &1 ywur i ffler 7+ § Jowea & sme-ure
B3 TP FOR Garal o quipfear H1 e & Rigma R 387 R ot WeR™ 599 3 BS o1 WP A1l Fel
wiraT g fF HeRT™ s\ gl A1 3 59 69X Ie-o gdd J, A W@l )R & Fosita e €1 ges @ 9
9% IR IeT FT &Y B, I3 T U1 $4, SRIEh B &8 3, AP-He0 F IU™ FA IR a1 99 O
B WR W 9 foddl wiie o # fore =16 i A1 sfee @it st fads o9@ @gd 1

HERTS SF® Iy A & {8 FI-T HId A?
® I BT Y'Y HAT
o R &I &8 AT
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* ANP-H & IUT BT

o Iwgad gaft
Correct Answer ;-3udad 9+

6)
Question Stimulus :-

e srow @1 aFyde yee SHd A ol T Jgfawed u=Al # 98t fawen &1 9a7 s

H®el ¥ 4R IR 8,
e ¥F fsu I =11
a1 T fora w1 o, IR fo,
&9 F3F I TEan &
B TR YT HIST B T,
HHART DI 7 39 |

¢ Id dl 3id d& g 9¢ 99,
Fieaar FIRET SR ¢ T
Ffo- UY &I &G GBI al,
Hpel & o 9 M Hal

¢ 3RiHT PO TE o R,
WRA-HHT P fe@ma d wail
Ug YT B PT U
®gl AT AUiferda A T fa1
w4 gas, i §tad 3,
Td foq, Ssme fam, ot =ifa famn

H- T G807 8 o9 T 81 © ?
o Jdel A TR o
* 3MUQIT @SR U o &
o 3T B B YT HIF & &7 ad &

(18)



* B Pl HIb UBAId 8l 8
Correct Answer :-3U3¢ 3@&T {57 &d &

7)
Question Stimulus :-

el s $F aFYa® Tesr S9@ A i T8 Jgfasmad] u=Al § 98! faewer &1 T B

Hdel I dR geaRId &,
3TueTt @ vy W =
T ¢ o Iy H, [ 5,
W Fxe A gsard gl
B TR YT HIST B I,
FHIRI B T 399 IRl

9% Td ol 3id 9% g 9 T4,
Fieaax MR SR 9 T
Hf37 UY F T T e,
Hdel & S 9 M el

¢ SRIHT O T & g,
WRA-HHT B feard 9 Fal
TE SRIYT BIURI BT U &,
HET U1 AU = T oAl
TG TA1S,, el 8t 4 g,
gu fom, Ses fom, oit wfaa famn

HUIR] B 5T 919 BT I 751 giaT ?
o AR 9T § IHYaT BT ©
o firfesi HfoTeR &
e 3id a% Fgd 9 &

Rraift oref §
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Correct Answer :-arf I3d & 31Yal $ie9 ¢

8)
Question Stimulus :-

Fafafeaa s @ aFYde Yee S i G T agfawed! u=Al § 98t fdsen &1 997 H30

H®el ¥ dR IR 8,
e 3@ 5w o =7
1 Y o s H, gR1 S,
FH P AL gBdId et
B R 3fyaT B3 g IRl
FHART I 7 3T T
9¢ I df 3id d@ 8 9¢ Iq,
Hisaax MR FuwR 9¢ T
HiSH 9Y I 3@ JEPId g,
Hwel & o9 3 M ATl

¢ 3RiYT PO TEl o g,
WA-GHT o fe@ma 9 HaTl
TE SRIYT BTUR] BT U< &,
HFT AT AUiferdad = T 31
wd ga1s, et 8t s g,
<d fam, Sas fam, oit =faa famm

HfST 7Y B I@HR FHART 1 Fa1 vl At § 2
e IRiftasiom§
* YW@ ¢
* ITW PN §
* FW U ¥
Correct Answer -3 3B &
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9)
Question Stimulus :-
FrafiafEa srow @ aFyde Tee 3@ A ol T Jgfawa u=Al # 98t fawen &1 9a7 s

Hel ¥ dR TR T,

FHHART DI 7 39 |
¢ Iq df 3id I% & 9¢ I,
Hieaax MRYT FuR 9 T
Ffo- UY &I & GBI Hal,
HPpel & o 9 M al

? 3RivT 3o T8 97 R,
WRE-"HT B fe@ma 9 Fal
TE SRYT BIURI Bl U B,
®gl AT AUifera = T a1
w4 gars, Rreht §t ad g,
od 3=, See fam, ot =faa famni

Ui A © T T T Ur?

. g A

o foora yTw Tt

* IRIYT PRI FT W §

o Rraitadg
Correct Answer :-3RiYd $TRI BT T §
10)
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Question Stimulus :-

Fafafe sew @ wryde Teet 39 A o T sglawad) u=Al o 9 fave &1 9a +e|

WPl § dR eI e,

FHHARI DI 9 ST AT
9¢ 9 ql 3id d& B 9¢ T,
Fieaar FIRsT SR 7€ 791
Ffo- UY BT & GBI al,
el & d 9 T Ael

¢ SRYT PO Tl IS g,
WRA-HYT T feard 3 Fal
Tg SRIYT BTURI BT U &,
HeT AT AU A T 31
w4 ga1s, et t 3k 8,
gu fom, See fam, oit wfaa famn

et frass fomm = 82

o g & fomm

* IR P o

o e & fomm

o I gt & o=
Correct Answer :-3wiad 9t & fo=
11)

Question Stimulus :-
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fPa 2reg # Ul o1y oA T ©-
* IJUBR
® AHGEAD
* W
® JUATIH
Correct Answer :-3UR

12)
Question Stimulus :-
AT’ & Y4 BIH-91 ST TR f 3Tt orf faudia gt wimee
o 3
° 3
° 3T
e TRk
Correct Answer :-3f

13)

Question Stimulus :-

o faRyur §

o wwrH

o FdaH H

o forurd
Correct Answer :-fpar &
14)

Question Stimulus :-

vafed” Tg 99 TS -

* TR
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Correct Answer :-Afd®

15)
Question Stimulus :-
e v & g Sfia gt @1 994 ifore-
39 99 TR7 99 ot AR T SR I o 1 TS, S B BE e
o TIAH PO PIAT R
o el § airer el
* el &R HH W
* TH UY G HTol
Correct Answer :-&meit § 3rer ifrem
16)
Question Stimulus :-
“agd uiem B e § & g geray @1 orf e @-
* Iy UIq ARAT
o G WA TP B &l
* T TSI
* Hleg BT 8 BT
Correct Answer :-TTd ST
17)
Question Stimulus :-
"HTEI & W & g Wét ereRT 8-
* G AR M

e g WX gAISdl 3T
(24)



o Hg Iaw
* HF W aF T W
Correct Answer =316 HR Sl

18)
Question Stimulus :-
"3RI Wg & oY arei 1 T FifeT-
o o < 7 o 9
o R gAT 9T &1 I&
o O ST 7 W1 W
o for& T 9 o §F
Correct Answer -5 91 9 &1 T%
19)
Question Stimulus :-

R T IR & R T Wsg BT YA Sifore-
U= i ¥ A & IUAsd § g ardT Seia’

BIR® Sl
IoTd St

Tt St
0 | BIg Tl

Correct Answer :-3Gd Sl

20)

Question Stimulus :-

o dfdaal § S9-a1 96 § 2

g I G fade 9 A, W FuT 97 gay T |8

Id W e W o, 95 wa R J9 e war 1”7
o el

(25)



Correct Answer :-9urs

21)
Question Stimulus :-
g dfeaal § e 99 3-
“g9 Hae & 94, T AU Ul
58 g, fRafs w9t a@= a1
* Wd
* ARSI
o il
o dhuré
Correct Answer :-iRal
22)

Question Stimulus :-
I A TSI $ g o= /g THY IuER Ehm-

* 3TUPT THTHRI
* JTUHI WU
*  3TUPHT HUTHIGH
o Iudad wft
Correct Answer :-3udad Wt

23)
Question Stimulus :-

g & & g ot @1 TgT Fife-
e VU

(26)



. St
* T
* o

Correct Answer :-3f[ur

24)

Question Stimulus :-
g & 9 srgg ot BT TG Pife-
o 3t
* =T
* AMER
* Iudasd
Correct Answer :-3iftq

25)

Question Stimulus :-

RISTHTIT PT Hal 313 8-
o f&dl /=g &t faxiy Ay
o FAHTYRIT BT AIGUTIT
* 5 R ATfefA® e
* WPR! FrTadl § TYT g areil HTHT
Correct Answer :-WR$R Saiadl § TRa g1 arel YTy

26)

Question Stimulus :-

I HAPT P P T BT HTT o~
o fegart
o WS el

(27)



* 3
o IRA-tRE frfd
Correct Answer :-@s! et

27)

Question Stimulus :-
o 4 9 ‘TeRr’ &1 yaigar! T8 8-
* 3N
o fdeu
* Ty
* IUA
Correct Answer :-facu

28)

Question Stimulus :-
ygu’ P # 4 fraer vafgarh 2-
* WA
* qu
°* M
* URY
Correct Answer :-UgA
29)

Question Stimulus :-

AR’ BT T HH g B-

(28)



o T A DK T
Correct Answer -
30)

Question Stimulus :-
"GAUTS" BT Togd Teg 8-

o THIMR

°* I

. o

* dd
Correct Answer :-grdiH

31)

Question Stimulus :-

3ngey’ # s A G4 2

2 9 1

gis wfr
Correct Answer :-guf If¥

32)
Question Stimulus :-
‘frrd=r &1 WY foede -

. fig+omdm

. Rgsomim

o fOaT+amem

o fUg+3r+3mem

(29)



Correct Answer :-fuq+3mexn
33)
Question Stimulus :-
R o1 Wiy e ?-

o fap+ud

o fT+um

o fqm+yw

o faP+aryA
Correct Answer :-fp+ud
34)
Question Stimulus :-
o arerien Y S we § sgafeua wifre-
() 919 g B & S &
QEELIERICIC]
() ST A gd
(@) & IR

e gAIY
e IR
e ¥IqVY
e gIAT
Correct Answer :-=7ddq

35)

Question Stimulus :-

g areien @1 3Ifd $H A wafRd Fifee-
(T) SHR B FHHT
(}) St S IE &

(30)



() fRiféra ot &t
() fe= ufafe
* TTTX
* g™
* gIAY
e ¥UTT
Correct Answer :-@gdv
36)
Question Stimulus :-
ST § W8l YR & GRT fHar sryan et & gR1 U=iEn St St § 981 S A1 SiddR gl 82
o AT
o I Hfd
o SITURA WIS
o a1 SRR
Correct Answer ;- |fd

37)

Question Stimulus :-

g dfRe § - siPR 8-

“dlg & e o, T3 9 Tl aifg |
i & e o 8, am die arfg 17

Correct Answer :-dcHI™

38)
(31)



Question Stimulus :-
o § 9 o a1 oifee-
o 351l urT 7l
g5 g4t UNTe g T
e g8 U Bt & W
e TEEd &l
Correct Answer :-ag UnTd g g T[Tl
39)
Question Stimulus :-
o § 9 3 9159 oifet -
o ¥ ydzrR 3G
o Ffdaal 3 UL St
o 3% sufaal 3 U gt
o Hf&mEY 7 dar 3
Correct Answer :-Jf&dl 7 UG @ |

40)

Question Stimulus :-

o dfekral 1 dagur Hifore-

YPR | AT HeP B | AT §1 T8 3N &1 9T g1 S9 WAl § & 39 g1y A o ot 7811 sufem a5
ﬁﬂmmﬁwﬁm%?mﬁmﬂﬁ?ﬁﬂaﬁ%ﬁmmﬁ%maﬁ%méﬁﬂwﬁ%’lu‘sﬁﬁﬁ
AP G Bt Tga gl S TR W99 Hdl §, S9 PO 1 TO A%hadl 3axd et 31 98 S L B A=
ot a1 fad Y, 39S 79 ¥ ue fazar o= a1 g1 I5T 9@ & St - Hft ISt Sroei SirEl $1 A § A g
ST 8, SHTeE S W & " SR H ff foms avrar 81 3 8 AR TSl B 3= g9 &

* 3H T Hed

* gy el Ramar oMU ® &% 3@l

* 9 A @ 7 TH IHH

* R TR RN U B, TS P TN $S HH B

(32)



Correct Answer :-R g 5 f°R=1 S 991 Bl, TS ST A $O H1H A

41)

Question Stimulus :-

3 @ F9-971 e a9 i e § ¥ @ e @ 2
* HUA
o T
* §H
. @
Correct Answer -9

42)
Question Stimulus :-
e & & 0 g BT P e 2-
o Siare
o Sy
o Sia
*
Correct Answer :-sftar&T

43)
Question Stimulus :-
3T & forg faeiy <reg ghm-
* U
* Uiy
* Uiy
o ynft
Correct Answer :-Hi®

44)
(33)



Question Stimulus :-
HYR’ P faaw 379 4 78 @8-
* ¥¢
* HHI
o digur
* Hgd
Correct Answer :-Hqga
45)

Question Stimulus :-

19 fel YT 1 g P T ARST HIAT A18d &, g S 3 B Jo a1 A 3T &1 IWT 918 o,
1| PR, forma e &1 WA e S B-

* U AF
o frdm
* DIYD
®* IS0
Correct Answer :-®Ig®%

46)

Question Stimulus :-

RHARTHATE’ SI--91 UG T 8?2

o I gHt
Correct Answer :-Hif3®

47)

Question Stimulus :-
(34)



St R 7 frg 39 @) gaifue gEr® 79 AT 82
* HEUIH
e R
* TGRT YR T
* T
Correct Answer :-g0

48)

Question Stimulus :-

SREGN 7 U= f5e o1 § 39 &1 fad=q o &2
o Hfaftan
o e firan
o IHARHDI
o fagr e
Correct Answer -3 firar

49)

Question Stimulus :-

T 3R T e AeYy & TWETeR 8-
o SI. YHPHAR qdi
* A ANR
o Fipia Hurdt Frram
o freTgaR TR
Correct Answer :-gd®ia Burdt fFRmen

50)

Question Stimulus :-

“faEy Jidt” T & IR -
o HEIdt gAf

(35)



. qumEE dE
* TGS
o IEH
Correct Answer :-gUsiguR a8
51)

Question Stimulus :-

e THRIR v =TS g @1 YURY B fbar T A
* 5T 1947
* 5T 1949
* 57T 1955
* 573 1970
Correct Answer :-5 S5 1947

52)

Question Stimulus :-
g e & o TEt IWR B1 99 Pifone-
"2l fard aRIS P IO, TR A dTel agHt B B 7™

* g
o T3
o gigd
o 9q
Correct Answer :-7dt

53)

Question Stimulus :-

g et & R It SR @1 =IE P -
“3l e BIc TH Yg TSI, ST 71 oid @S|
dl-dta wma wiet, orf Farg ot ema gkt

(36)



pat
* HTERT
oYt
o YSIHI

Correct Answer :=US™{I

54)
Question Stimulus :-

Y+T+ Y+ 5+ T+ + T+ T + 3 T YS I Wagor grm-
o gUfR
o gfufgR
o JefifgR
o g
Correct Answer :-gfifR

55)

Question Stimulus :-

‘YR’ BT Yk IaA! [IzATor -
® Y+ FB+T+M+ I+ 3
®* Y+ B+T+T+3M+J7+ 3
®* Y+FB+FT+T+MM+ I+ 3
® Y+ B+ T+ T+ 3+ T + 3

Correct Answer :-[+ B+ T+ T+ 3T+ T + 3

56)

Question Stimulus :-
g v & sg-gmm F erd-Ye § A ®19 11 Tad 82

o FHIl-BHPSl = Bicl PHS-Uh URIG dXHRI

(37)



o 3ifedr-after = foia 3reT HRAT-ieT

® Jd¥-JR = HU-Sidld

o JTAT-IATATT = ol ANST-3 | AT AT

Correct Answer :-3a¥-3TR = JHUI-sdid
57)
Question Stimulus :-
“ITHR-STER " G BT Hel 31 ghm-
* JFFU-IR BT ARIDB FU
* W BT ARG FU- FIFY
* WEY-WR FT TS
* TR P AR FU- WY
Correct Answer :-3[FJ-%R $T ARSI &7

58)

Question Stimulus :-
& & or o1 FAr e TE 3
o 3T
o Y
o dier
° g
Correct Answer :-g4=n

59)

Question Stimulus :-
Frafafee aga § @ Yaifea g F Turd e 1 T8 Bifome-
“W-$A FA-Pd IT 9 I81 fhea &1 3id sie @Il

® Ul

° Rd
(38)



e JIUdd
* Bd
Correct Answer :-3udd

60)
Question Stimulus :-
Aaeaa’ &1 99N faug ghm-

o iar g <t FHA

o el AT

o e ¥ FT HHA

o HUd g W B
Correct Answer :-+tam § & o8
61)

Question Stimulus :-

YT’ g 5T THRT BT ITER0T 32
* qUTY JHN
® Gg JH
o FHYRM TIN
o JgAiyTa THH
Correct Answer :-3&AHTa T9™

62)

Question Stimulus :-

g o A dgea 9T @1 99 Pifor-
* TP 3w g H guvl
o N H A TP BIE ST GRT TE gl

e AN §¢ B il

(39)



o U | BIg T
Correct Answer :-9 T& 31& § 7T gl

63)

Question Stimulus :-
fa & ¥ %q ara ghm-
o IAW H T M
* 379 I MEE|
o HaH ¥ g1 8T S
o T A PR T
Correct Answer ;=319 T STl

64)
Question Stimulus :-

*Spill the beans’ T 3dIE 8-
* W SRR HR &I
o JUR FI 3R R8N | AP
* W DI W 3@
o T A TI§ T
Correct Answer :-3g® IR & ¢l

65)

Question Stimulus :-

‘forSt @ A 2eg PT SiTSh vty 3-
® Out of stock
® Out of order

® Out of date

® QOut of limit

(40)



Correct Answer :-Out of order

66)

Question Stimulus :-

BYR & RR A Tl &7 da dpliad o1 5T o 82
* g & fog gum T A
¢ o =fed & RR W gElke 9@ @
o fepa Mg wfea ot 4= e
e 3Ty SfeRT I 3T UG AT
Correct Answer :-3@17 feT & 33T Ug fAeT

67)
Question Stimulus :-

PR SAUAT § UST AT & piiad &1 aar 3 872
o 3UHT T URHT HAT

o T TS S I AID! S| e ©

fpeft &t diem & &

¢ TRl B G Bl g5 THIAT
Correct Answer -3/ §913 g5 a3 Ja®! S| Tl 8
68)

Question Stimulus :-

UG UH BT UY BT HEyeereeressesserserserseres I”
SuYa diwie B guf Hifre-

* 3R g W AT FSTad! §

* TUAR $I YR T uTa §

@t 3R OR warad @

T8 79 & Xy ®

(41)



Correct Answer :-dddR &1 4R T Y91 &

69)

Question Stimulus :-

o & & o @ el [ ot el 76 8-
. &
° Fw
o Hloil
o FHeR
Correct Answer :-gueil

70)

Question Stimulus :-
“ MU e BT TART Uy fHa= fpar-

* Wd
o ydwfe
* IETRER
* YMHg
Correct Answer :-gdsife

Topic:- General Knowledge
1)

Question Stimulus :-

Which of the following is NOT included in the Union List? / g ﬁ?ﬁ ﬁ' ﬁl’H ﬁ '\ﬁ T "«’IT&IF[ qﬁ %?
® Railway Service / ¥&d Jar
® Naval / TR
® Atomic Energy / UXHIU] Sl

® Travel / 9TAT

(42)



Correct Answer :-Travel / QTAT
2)
Question Stimulus :-

Match the following and select the correct answer from the codes given below:

/ g =1 fireme e R fou T Fist § I8 SR &1 I B¢

List-I List-11
1. Sikkim a. Agartala
2. Rajasthan b. Imphal
3. Manipur c. Jaipur
4. Tripura d. Gangtok
-1 JRI-11
1. ffdwn a. SRl
2. ISR b. STHTA
3. AR . SR
4. BqRT d. Te®

® 1-c,2-d, 3-b, 4-a

® 1-d, 2-c, 3-a,4-b

® 1-d, 2-¢c, 3-b, 4-a

® 1-d, 2-b, 3-c, 4-a
Correct Answer :-1-d, 2-c, 3-b, 4-a
3)

Question Stimulus :-

& o

pi

C

The size of the perimeter of the square ABCD is equal to 100 cm. The length of the segment
MN is equal to 5 cm and the triangle MNC is isosceles. The area of the pentagon ABNMD
can be calculated using / @ ABCD & URHIT &7 I15W 100 JH 81 WS MN &t

(43)




@1 5 9! 8 3R MNC wafg o1 Y 81 vaYst ABNMD &1 &% BT YA HIb
frTe 1 awar g

Area of ABNMD

100 - 2 x MC x NC / ABNMD &T &%= 100 - 2 x MC x NC

Area of ABNMD 252 + 12 x MC x NC / ABNMD &1 &3%d= 252 + %2 x MC x NC

Area of ABNMD = 100 + V2 x MC x NC / ABNMD &T &3F%d= 100 + 2 x MC x NC

Area of ABNMD = 252 - 1> x MC x NC/ ABNMD &I &F%dA= 252 - 12 x MC x NC

Correct Answer :-Area of ABNMD = 252 - 12 x MC x NC / ABNMD &I AABA= 252 - 2 x
MC x NC

4)
Question Stimulus :-

A small arrow or blinking symbol on computer screen desktop is called a / SIeT JT 9107 a1 HRYCY
TP IR SIUDAT g3 U 1D, PEdrdl &

® Mouse / HISH

® Tab/eq

e Cursor / IR

® Icon / UferHT
Correct Answer :-Cursor / $UX
5)

Question Stimulus :-

If the compound interest of a sum at the rate of 10% per annum for the third year is Rs.800 then the compound
interest for the same amount for the fourth year is Rs . / i T YFRIRT @1 W@ TS 10 Uier=rd
o R A T a9 & ) 800 = 7, af St RN & o MY of & R wpgfS e =7

* 800
®* 1680
* 380

880

Correct Answer .-880

(44)



6)
Question Stimulus :-

The following set of coordinates represent relations between X and Y. The one set which

does not belong to this group is / =i & g de X 3R Y & §i9 &1 Idy
guIid §] 9% TP e ol 39 HYF | i T8 §

{2,494, 3,9), (4, 16), (5, 25)}

{2,2),3,2),42), 5, 2)}

{2,2),2,9,3,0),(3,9);

{2, 7), (3, 10), (4, 13), (5, 16)}
Correct Answer :-{(2, 2), 2, 4), (3, 6), (3, 9)}
7)

Question Stimulus :-

The field in a database is ./ TP 399 H Blies %I
® Table of Information / T P AR
® Data / Sa1
® (Category of information / T 3t it
® Record / fyore

Correct Answer :-Category of information / T 3t Juit

8)

Question Stimulus :-

The difference in the of the determines
an expression’s status as an or an /
&1 H 3R U IIfHHTRT BT 3NEST UTT Bl & FEUH I = U H

® power, variable, identity, equation / TR, d¢, Ugdl, JHIHI0
® Value, variable, binomial, equation / dX, HI, ﬁ&"q_d, JHIwr
® Value, power, identity, equation / ¢, HTH, UgdI-, gHiwRo

® Value, variable, identity, equation / TR, HIH, UgdI, e

(45)



Correct Answer :-Value, variable, identity, equation / T, HI, UgdI, ez

9)

Question Stimulus :-

Where is Siddhivinayak Temple located / fafsfamas ufer ﬁzf @ %

® Karnataka / Bcd

® Maharashtra/ HgIRTY
e Odisha / ST

® Andhra Pradesh / 3T 'Q'%QT

Correct Answer :-Maharashtra / HgIRTY

10)
Question Stimulus :-

The product of (2x3 - 5x2 - x + 7) and (3 - 2x + 4x2) is
+ 7) 3R (3 - 2x + 4x2) BT UAHT B,

4

o 8x0-20x - 4x3 +28x2

° 60— 15x%- 3x+21

4 3

o - 431103+ 22— 14x +28%°

o 8x° — 24x* + 12x° + 15x% — 17x + 21
Correct Answer :-8x> — 24x3 + 123 + 1552 — 17x + 21

11)

Question Stimulus :-

/ (2x3 - 5x2 - x

Common salt is a mineral composed primarily of ./ HIYRU FHD BT =Y I L T §91 T @il gl

® Sodium bicarbonate / TSTH FSHIT
* Sodium Chloride / NTSTH FARTSS

e Sodium hydroxide / Tf&TH 3133'7?\‘“33
* Sodium oxide / AfSTH er"rawss

(46)



Correct Answer :-Sodium Chloride / fSTH FARTSS

12)
Question Stimulus :-

Which of the following States celebrated the Red Panda Winter Festival in 2016? / Frafafaa ° 3 fea a3

2016 ¥ &9 UiST aeTeli- Agiead HART?
® Nagaland / BINIGE]
® Meghalaya / HETAT
® Assam / 3¥FH
* Sikkim / Fifewa
Correct Answer :-Assam / 3dH

13)

Question Stimulus :-

Vikram Sarabhai Space Center is located at RCER WTS: fafver ¥g H fRE %

® Thirivananthapuram / ﬁﬁ?ﬂw
* Mumbai / 9%

® Sriharikota / %ﬂ%ﬁ?ﬁﬂ

® Bangalore / a’rlﬂg

Correct Answer :-Thirivananthapuram / faea-iaQza

14)

Question Stimulus :-

The table shows the scores of 20 students on a history test. histogram is the exact representation of the

data. / 99 20 B & ShIE & e F R REmar g muafs el 37 98 UexH= §

History Tost Scorcs

0
& £
Humharal & &
Students 4
T4
fi

(47)



Hisiory Test Scores
20
1% f
dramber al 12
Stadenls

10

Murtargl 6
Shiders 4

°
U
8
Hufiberdl 6
Students 4
21
u o
°
History Test Scores
L i
1 ﬁ
Wamber ol 12 ]:
Stadgals 31
om0
f;@ﬁfﬁ
Correct Answer :- Sece
15)

Question Stimulus :-

Where is the Indian Wild Ass Sanctuary located in India? / HIRd & gSER AHIRTY FEl (RAT 7

® Gujarat / SIRTd

® Rajasthan / IS

® Jharkhand / IRES

« Chhattisgarh / S
Correct Answer :-Gujarat / JoIRTd
16)

Question Stimulus :-

(48)



Fill up the blank choosing the correct answer. / Hﬁwwﬁﬂﬁ TIF W

7360 (519+820) =  =====mmmmmmmmmcmmemeeea
®  7360x519+7360x820
® 7360x519+820
* 7360+820+519
® 7360x519%820
Correct Answer :-7360x519+7360x820
17)

Question Stimulus :-

In which among the following state is the world famous “Mysore Dasara” celebrated? /ﬁl’H o ¥ fog wsa
fay wirg “AYR SRR WA W4T 82

® Kerala/ W
® Maharashtra / HEIRTY
® Andhra Pradesh / 3<%/ TJI%QT

® Karanataka /37_'{[?3?

Correct Answer :-Karanataka /Eb_-ﬁﬂﬂ?

18)

Question Stimulus :-

Where is “The Great Himalayan National Park” located? / i o %WTI ATEA " WT R %?

® Madhya Pradesh / |
® Jammu & Kashmir / STH] 3R HRHR

L Maharashtra/'FIFRTg
® Himachal Pradesh/%ﬂ'ﬁlﬁm

Correct Answer :-Himachal Pradesh / fgHT=e Uewr

19)

Question Stimulus :-
(49)



In which American city is the White House located / AN®T F DT A Tre | 31%? I3y R« %
® Boston / T
® Chicago / R
e New York / <[dT$h
® Washington D.C / ar=itre .4t

Correct Answer :-Washington D.C / GT=11Te-T SI.3

20)
Question Stimulus :-

DNA, the full form of which is , is a molecule that carries most of the
genetic instructions used in growth of all living organisms./ Eﬁw, W‘{Uf??q %, ﬁ@
3] B ot SgafRie |t Shifaa shal & faea ® swwra A= &1 Je Sa1er 989 F-ar 2l

® Duonucleic acid / §'Gﬁm STRT
* Deoxyribo nucleic acid / TSSTRIRTZS! gfFa®
* Detoxified Nucleic Acid / SSIRIBISS FfFad 3

® Dinucleic acid / W SR
Correct Answer :-Deoxyribo nucleic acid / %m W 3T

21)

Question Stimulus :-

Which Indian has scored the most Test centuries in a calendar year? / fFrafafaa 9 fea urda
9 TF Fas 94 § aied e ad I 52

® Sachin Tendulkar / I aw

® M.S. Dhoni / GH. TH. ¢+t

® V.V.S. Lakshman / dl. 9. Y. d&HUT
e Virat Kohli / fORTE Pigeht

Correct Answer :-Sachin Tendulkar / I a—g‘?ﬁﬂ_\"

22)

Question Stimulus :-
(50)



Which player is allowed to touch the ball with his feet during a Hockey match? / E\W ﬁ?[a?a?l:l Nl g
B ZH Ft AT fooa farSt &t & o<t 82

® Captain / a‘TET-I

® Goalkeeper /Tﬁ?f B

® Centre-forward / dev - Uﬁﬁ'&‘
* Defender / fSWHER

Correct Answer :-Goalkeeper /T PR

23)

Question Stimulus :-

Which of the following matches the top/base view of the prism given above? / HUR o T fisw & RreR/ MR
| 7 9 3 a1 39 @ g2

(51)



Correct Answer :-

24)
Question Stimulus :-

Against which country did Germany win the 2014 FIFA World Cup? / {59 321 & fdog s+t 3
2014 &1 BIHT fAYHT Sitdr 412

® Spain / T+
® Argentina / ST
® Netherlands / T‘ﬂﬁg
* TItaly /3ol
Correct Answer :-Argentina / 3/S{cl-IT

25)
Question Stimulus :-

What is a TKO in boxing? / JaabaTell #§ TKO T 87
® Technical Knockout / oI AIPITIC

® Time Kick Out / CIgH fo® amge
« Technical Knowledge / ¢&HI®d Aifers

® Teeth Knockout / d1¥Y ATH3ATIT
Correct Answer :-Technical Knockout / S d ATBIATIT
26)

Question Stimulus :-

(52)



The ICC world cup 2019 will be hosted by . / s fay sy
2019 SIRT SMAiford foeam Sme|

® India / HIRd

® England & Wales / 3"@3 G‘ﬁ? a@r

* South Africa / Gf&0T 3BIHT

® Australia / H\@m
Correct Answer :-England & Wales / 31?!3 3R I
27)

Question Stimulus :-

If diagonal of a rhombus are in ratio 1:3, and its area is 6 cm2. The smaller diagonal of
the rhombus is / A Tagys & fa®ul 1:3 & 3gura ¥ §, 3R 37@T
Apd 6 At ol 8, A THAgyW 1 BleT fawul @

* 4cm / 49

® 6cm / 6 T

* 2cm / 29

* 3cm / 3G
Correct Answer :-2 cm / 2 I
28)

Question Stimulus :-

In which of the following is there seasonal unemployment? ek AL A R 82
® Government Sector / IIBRI z'?ﬁr
e Private Sector / FISit &=

® Banks /é’ﬁ

® Agriculture / Tﬁ

Correct Answer :-Agriculture / $f¥

29)

Question Stimulus :-
(53)



A rabbit walks from one corner of a square shape plot to its opposite corner. If it walks
along the sides of the square, it takes 13 minutes to reach the opposite corner. Had it
walked along the diagonal it would have taken minutes for the
rabbit to reach the opposite corner. / T® TR THR Wic B T HH A ITP §'\‘ﬁ HH 9% Fadr
2] afe a8 ol #1 yeneif & PR Feran 8, o Awia #14 R ugeq & R 13 fFe @9 8| orR 98 Al
& TRER T BT, d 39 fAdld #1 W ug=q & [ firTe @ gid|

[
p—t
(]
< _
(%)

2

13
Correct Answer :- 2

30)
Question Stimulus :-

Repo Rate is determined by / UGl BT G grT Futa fear srar %
e SBI/TH.§.3MS
e SEBI/TY.3.91.3m8
e RBI/ IR.§.3M5
® Central Government / % TXPIR

Correct Answer :-RBI / 3R.§1.3M8

31)
Question Stimulus :-

Which of the following controls the functioning of share market in India? / fFrfafaa # ¥ F19 YRT F IR TOR
@t 1 USia B Frafa s 82

* FERA
® MRTP
* FEMA

® SEBI

(54)



Correct Answer :-SEBI

32)
Question Stimulus :-

The instrument used in measuring the distance covered by vehicles / qre-l gRT a4 TﬁTl's‘ gﬁ
Cak: UL i IUSHUT BT SUANT fHar Srar 8

e Speedometer / ATTHTYL
®* Odometer / TYHTH

e Hygrometer / 3TEdM™d!
e Hydrometer / g3

Correct Answer :-Odometer / TYHTH

33)
Question Stimulus :-

Internal trade means / 3TAIN® ATYR BT HddAd %’
® Import / STATd
® Export / frata

® Trade within the country / Y & 3R ATUR

® None of these /'E'Fl'l}lﬁ aﬂéﬂﬁr

Correct Answer :-Trade within the country ko 3iey AMUR

34)
Question Stimulus :-

When soap dissolves in water, “micelles” are formed .They are chemically, / STd HTq =t | qeIdr %, Gl

e 97 81 3 TEEe w0 A Ea §
® Sodium or Potassium stearate / Tifeaw a1 welRmy fReave
® (Calcium or Magnesium stearate / Ffeaay a1 ﬁﬁm feave
® (Collection of stearate ions / feave et &1 U8

® Stearic acid / THaR® e
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Correct Answer :-Collection of stearate ions / Reae St &1 U8

35)
Question Stimulus :-

Find the odd one out / TqUH aram ITd ﬁﬁm

® Meira Kumar / §I_T PHR

® RabriDevi / Ta<T &dt

e Anandiben Patel / 3THEIA Ue¢d

® Jayalalithaa / Sradterdr
Correct Answer :-Meira Kumar / HIRT $HR
36)

Question Stimulus :-

Which of the following is an echo-ranging instrument? / o # 9 ufaeafe w99 <9 3 %?
® |ASER
® SONAR
® MASER
* GPS

Correct Answer :-SONAR

37)
Question Stimulus :-

Which of the following characteristics of animals is for adaptation to tropical rainforests? / g A ¥ SeR) Bt P

Ht foware Swisfedtda auf-a=f & srgepeqd & forw 82
® Wide and large paws /%ﬁt% 3R a% ol
® Layer of fat under skin / cddl & T 9971 T w®a

® White fur / g B

® Long and large beak / = SR ‘_SI?.& GIE]
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Correct Answer :-Long and large beak / TFiT 3R ot Tig

38)

Question Stimulus :-

Which one of the following people is not an architect / frafafea gl § Q &4 dIIPIR =r5°r %
® Charles Correa /TG ®ITAT
* BV Doshi/dt 4t =i
® Raj Reval / XTSl ard

* 1K Gujral/ 3T & TORTA
Correct Answer :-1 K Gujral / 31§ & TGRTA
39)

Question Stimulus :-

The metal which gives ruby stone its red colour / T8 UTg S &dl YRR I IADT ATd W UG
GG

® Nickel /ﬁaﬁf

® Chromium / ITAH

® Aluminium /W&lﬁ'ﬂ'ﬁ

® Germanium /ﬁﬁﬁ'ﬂ'ﬂ
Correct Answer :-Chromium / SHIfHIH
40)

Question Stimulus :-

Removal of clear layer of water without disturbing the settled impurities is known as / Rr arg%u‘r ol %'E‘ITQ' CEI
e P TS WRd P geTT pgdldl %’I

® Sedimentation / SIdHTG
® Decantation / IGESIELY]

® Filtration / ﬁl’\‘qﬁ

® Sublimation / SUJUTAT
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Correct Answer :-Decantation / FFIRAROT

41)
Question Stimulus :-

Coal miners use battery powered lamps rather than kerosene lamps & candles because / HUA B G § BTH HH

el AT HATH AT YT THI®T P ToIT Sl arell dH BT ITANT HId &, Fiihp

® Kerosene lamps & candles are renewable & inexhaustible / BRI A YT AT ey T4 &

® Kerosene lamps & candles are renewable but exhaustible / FARE A TUT AT
Taeoita afe aaehia g §

® Kerosene lamps & candles have open flames & can ignite coal dust or gases / PRI A¥ gUT AiHTw I
Praar & g1aT a7 91 § ST & ghdl @

® Kerosene lamps & candles are renewable but causes pollution. | BARH AT YT T Tdteuig @ %
AfB=T wguor &1 HRon oft g 7

Correct Answer :-Kerosene lamps & candles have open flames & can ignite coal dust or gases / ﬁl’\ﬁm étq

TUT AT S PIgar & RIS a7 A9 | W T APl &

42)
Question Stimulus :-

Which famous cartoonist is acclaimed for his work known as “The Common Man”? / ?ﬁﬂ ﬁ m EI""IT;:E'fR'

P B St fF S Hra= A9 F 91 oaT § F e u=ifa §
® R.K. Narayan /3R & SIRTI0I
* R.K. Laxman /3R & @&H0I
e Ajit Ninan / 3ffora 999
* Swaminathan Ankelasaria / SATHIFITYA Sibaraiar

Correct Answer :-R.K. Laxman / 3[R & @&HU

43)
Question Stimulus :-

Who was the first Indian President of the International Court of Justice? / GIT'R{'@TI' ATATATT & YYH YR
3eef S A?

® Benegal Rau /aﬁﬂﬁm
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® Nagendra Singh / = Rig
® Raghunandan Swarup Pathak / TEFIETI' WY UYIoh
® Dalveer Bhandari /Eﬁﬁ'\’ 'H@'Iﬂ'

Correct Answer :-Nagendra Singh /?I'ﬁ? Rig

44)
Question Stimulus :-

Presence of sweat glands in the skin is a unique characteristic of joadr ¥ wWe A= 3t SulRAfa
1 o= foRiwaT 8

Mammals WQ'Rﬁ/
Reptiles / '\‘lﬂﬂ'ﬂ'

Amphibians 349X/

Aves/ m—c'_gﬁ

Correct Answer :-Mammals WURl/

45)

Question Stimulus :-

Which city among the following is NOT a capital of Indian states? / FrrofafEa # 9 w19 yRd IT=al @ U
HEUEE

® Chennai / %ﬂé

® TImphal / THPT

® Pune / HT?[
® Panaji / quTSIt
Correct Answer :-Pune / Ul

46)
Question Stimulus :-

Which tissue is the diaphragm made of; / STATHTH fPg Sae d a1 %
® Muscular / uxig
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* Bone /TSl

® (artilage /m

® Connective / TaTSl
Correct Answer :-Muscular / U=
47)

Question Stimulus :-

The first Restriction enzyme to be isolated was / 9T ufaaes TITgH foret srerT femar mar ot

* EcoRI /TP R3S
* Hindll / fg=g11

° Alul/ 3l

e Bam HI / SH TIITS

Correct Answer :-HindII / f&=11

48)
Question Stimulus :-

Which city is called Garden city of India? / foa LIRKS B U DT I BT g bl SITdl %?
® Bangalore / CRIIES
® Mumbai / 'ﬂﬁg’
® Chennai / %]aé
® Kochi / CaECi|
Correct Answer :-Bangalore / ST@IR
49)

Question Stimulus :-

A contractor finished a work in 4 days working 6 hours daily. How many hours will he need to work to complete the

sameworkinthreedays?/WW%WG%WWWW&@4ﬁﬁWWIBﬁm
@ 3 fel § 1 # & fore S ufafea fvam €9 &0 o3 &1 sra=a®ar giit?

®* 10
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* 3

* None / ®ig I Tgf
Correct Answer :-8
50)

Question Stimulus :-

The average score of a group of students is 75. The brightest 28% of them secured an
average score of 85 and the dullest 27% of them secured 38.The average score of

remaining is? / ST & TP JYE BT 30 TR 75 1 379 A 28% T W BT 7 85 BT 3T TR
TR 3R ITH T 27% Ja9 HHSIR BEI 1 38 BT NGd TR I9111 AV FT 39d TR FT 82

e 91

° 88

e 93

e 85
Correct Answer :-91
51)

Question Stimulus :-

Which among the following States was the first to have a Woman Chief Minister? / fada DI AT Ugdl I

1 forad wfgen gerEEt 4
e Bihar / fSER
® Tamil Nadu / 8@ ATg

* Delhi / faeett

® Uttar Pradesh / 37} 'Q%QT
Correct Answer :-Uttar Pradesh / 3T% USRI
52)

Question Stimulus :-

The ratio between the presentagesof Aand Bis6: 7. If B is two&%_\erars old than A, what
will be the ratio of the ages of A and B after 4 years? / dq & A B @1 3R] & & BT
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AU 6 : 781 AR B, A} AP A Gl af 981 8, <t 4 WA 91 A 3R B B} 3G BT 3JUTd FIT 112

None of the above / USRI aﬁé :Ia

Correct Answer :-8:9

53)
Question Stimulus :-

Who is the present Chief Minister of Goa? / T & IdAT q31 A B %'?
® Manohar Parikkar / 'FFﬂ'ER' ufveee
® Laxhmikanth Parsekar / aeHteT ¥ | 3 ong
® Devendra Fadnavis / éﬁ-—szwm

® HDKumarswamy / UF 8 $HRETH

Correct Answer :-Laxhmikanth Parsekar / T&HTRT UTH D

54)
Question Stimulus :-

The Constitution of India recognizes / HIRd BT iy ?f\q qer-dl %

® religious and linguistic minorities / e '] ‘3-|'|"5|'|_$£ & [T

® only linguistic minorities / G ?-I'I"Tlg' & IS RS ECIE

® only religious minorities / Fad Ui eudeTs

® religious, linguistic and ethnic minorities / 'E-IT&h?, ‘-ITng Td EIGIE R GEE EY
Correct Answer :-religious and linguistic minorities / e Td 'l-l'l'lsl'l—&F X [V G

55)

Question Stimulus :-
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5

Mahesh got married 6 years ago. His present age is “times his age at the time of his marriage. Mahesh’s sister was
10 years younger to him at the time of his marriage. The age of Mahesh’s sister is: / 6 HT¢] tl?ﬁ u%waﬁ QMG E'&"
5

q | afHT A IHPT Y A S THY W STS AT P 41 &1 STB WS P THY R ALY B 981 I
10 99 B | TR Pt 989 P Y &:

® 20 years / 20 EL
e 28 years / 28 a9
e 30 years / 30 9%
® 40 years / 40 a¥

Correct Answer :-20 years / 20 9%

56)
Question Stimulus :-

In which of these places were two important battles fought by the Mughals? / frafafea ¥ fPa RA W 'ﬂ'ﬂ?ﬁ
g1 &t Tgayul g @t wil?

® Benaras / 949RY
® Kalinga / CAIK|
® Panipat/ UIEiLG]
® Patna/UcHl

Correct Answer :-Panipat / 9I<TUd

57)
Question Stimulus :-
23" of 93 / 93 FT 2/3% 2
® 59
® 68
e 71
* 62

Correct Answer :-62
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58)
Question Stimulus :-

Two Fifth of 500 how much more than one fourth of 200? / 500 &T gl Uiddl, 200 & TP AU
¥ fram it @2

® 100

e 75

® 150

® 50
Correct Answer :-150
59)

Question Stimulus :-

Who among the following built the statue of Gomateshwara at Sravanabelagola / Haurdarter § MHER 'chf

A @ foua g8 O
® Chamundaraya / il'l'ﬁ'c{l'lf
® Jayachamarajendra Wadiyar / ERELR IR

® Tipu Sultan / 1Y FeT0
® Krishnadevaraya / W

Correct Answer :-Chamundaraya / GTH&rd

60)

Question Stimulus :-

In a lottery priced at Rs. 5, only one lucky winner would receive Rs.1,00,000. At least how many such lottery
tickets should be sold, if the sponsor wants to earn a profit of 20% on sales from the lottery? / 5 S LG arelt

TP dics] §, ad T HIaRmel fasidr 1,00,000 9T UTW BT | HH A HH TF fpaq dled] fewe 3=
S A1y, afe uraeie diesd! & fashl IR 20% &1 oY ifeid ST argdT 22

e 12,000

® 12,500

® 24,000

* 25,000
(64)



Correct Answer :-24, 000

61)
Question Stimulus :-

Fill in the missing alphabets / T 31&R HURT

ba__ab__baa_b__

® ab,ab

® b,ab,a

® a,a,ab

® b,b,b,a
Correct Answer :-a,b,a, b
62)

Question Stimulus :-

Which of the following was not a part of the Empire of Ashoka? / fad o T, 3P & AU BT fgeam

g1 °T?
® Kalinga / BT
® SriLanka/ freiwT
® Afghanistan / SHATRAT
® None of these /3_"Iﬁ il aﬁ'&; TEl

Correct Answer :=-Sri Lanka / Gl

63)
Question Stimulus :-

6% of 300 is / 300 HT 6% &:
° 18
o 28
° 32

® 16
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Correct Answer :-18

64)
Question Stimulus :-

The ratio of width of the Indian National flag to its length is ./ UIRd G ?Tg']'q 3[0@' ) Eﬁ?ﬂ’sﬁ T D!
qaTS § SguTd 2l

® 35

& 24

® 34

e 2:3
Correct Answer :-2:3
65)

Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / 9 IR ydl & 4 &9 1 7 {33 "™ td & THeH THH T8I 82

Tussey Mountain Outfitters, Inc.
226 N. Water Street
Bellefonte, PA 16823

(814) 355-5690

(i) Tussey Mountain Outfitters, Inc.
226 N. Water Street
Bellefonte, PA 16828

(814) 355-5690

(ii) Tussey Mountain Outfitters, Inc.
226 N. Water Street

Bellefonte, PA 16823
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(814) 355-5690

(iii) Tussey Mountain Outfitters, Inc.
226 N. Water Street
Bellefonte, PA 16823

(814) 355-5690

(iv) Tussey Mountain Outfitters, Inc.
226 N. Water Street
Bellefonte, PA 16823

(814) 355-5690

® jv
Correct Answer :-i
66)

Question Stimulus :-

Which is the second highest civilian award in India? / HIRd & QT gare ARG YD DIF-4T1 32
® Ppadmashree / LGP
® Padma Bhushan / USIYYUT
® Padma Vibhushan / Wﬁw

® Bharat Ratna / HIRd ¥d

Correct Answer :-pPadma Vibhushan / TRIFIYTUT

67)

Question Stimulus :-
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Select the statement which is the logical equivalent to the given statement. / dg ®Yd ﬂﬁl’a

o d& P TRe A 33 T $YT F FHH 8-

If I read 10 hrs per day, then I can pass the exam. / gf¢ & 10 e fa7 # ug, o & udiam =il &<
gl | )

® |[fldon’t read 10 hrs per day, then | cannot pass the exam /'Clﬁ # 10 gue uﬁﬁq T q?;j, GIE:| tlﬁ&l'l It "-I'6°f
DY Hbdl

® [f | failed in the exam, then | haven’t read 10 hrs a day / gfe i e | Glﬂ?ﬂ'uf ﬁ T, GIR:E| yfafes 10 goe
TR QT 8

® |f | passed the exam, then | had read 10 hrs per day / gfe A7 e 3Iof ﬂ'ﬁ, IR ufafeT 10 gue Tel %
® None of the above / SURIGT ﬁ'&f T8l

Correct Answer :-If I failed in the exam, then | haven’t read 10 hrs a day / Tf% 7 qﬁ&ﬂ | Glﬂ?ﬂ'uf E-T i, ar
A9 yfafeq 109 T€i uer &

68)
Question Stimulus :-

The largest democratic country in the world by population is . [ S ST @i EQ' 3 ﬁ%{ BT g9 q98T
ABais STE__|

* USA/JTUHT

® China /94

® India / HIRd

® Japan / SITUTH
Correct Answer :-India / HIRd
69)

Question Stimulus :-

Select the statement, which is the logical equivalent to the given statement. / dg &Y gﬁﬁ
ot 9 P TRe A A T FUF F IUF 8

“If you don’t work hard, then you will not pass” / “af¢ gq 3= Agad 7 &, aF g0 Iwvf 7Y
i

® |f you work hard, you will pass /'Clﬁ qH Hie ﬁET-I'd W\Pf, @ qH It 33[ ST
® |f you don’t work hard, you will pass /“Cﬂ% dd CaLL ﬁ'ET-l?T T ﬂ, a G It E-T |
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® Work hard, or you will not pass /ﬁBT-I?[ ﬁ, qr gy It T-I'éT 3-1'?[

® |f you pass, then you have worked hard /Tlﬁ' qH It _5:' \_rlTB'ﬁ, @ 'g[l:ﬁ ﬁ%":l'd | %
Correct Answer :-If you pass, then you have worked hard / af¢ gq 3ot g sai, ot T Aed Bt [

70)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY same as the other three? / g
IR Udl § & 19 1 UP drh! a9 & Thed JHM g1 82

i.Paul Wolfowitz
No. 999, University Street
Montreul, PQ

CANADA H3C5H7?7

ii. Paul Wolfowitz
No. 999, University Street
Montreal, PQ

CANADA H3C5H7

ifli. Paul Wolfowitz
No. 999, University Street
Montreal, PQ

CANADA H3C5H7

iv. Paul Wolfowitz
No. 999, University Street
Montreal, PQ

CANADA H3C5H7

o ii
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Correct Answer :-i
71)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / d% fd@e qﬁi’r
Sl fad T YT SR el & R ¥ |8 §:

Statements: / ®Y:
Some apples are bags. / $9 9 T %'I
All apples and bags are cars. / Tt A9 ST T= W%'I

Some cars are doctors. / T BN SiaeR 8l

Conclusions: / fAwsd:
i.Some apples are doctors. / PO qY SigeR %'I

ii.All doctors are bags. / 9! Siae? 5 1
* If only conclusion I follows / af¢ %aa frswd I Fwaar ?
* If only conclusion II follows / af¢ Faa ey 11 Feaa g
* If both conclusion I and II follows / afg et I R 11 Q1 Ferd §

® If none of the conclusion I and II follows / TfS etk A ﬁi—‘f T8I Freraran %

Correct Answer :-If none of the conclusion I and II follows / Tf¢ fept 1 3% 11 # A HIS F8) Fpadr
?

72)
Question Stimulus :-

Mahabhasya - an outstanding work in the field of grammar - is a composition by: / HgTHT® - HUTHI0T &
A ¥ TP ISP P - TP GG 8 9P gRI:

e Ashwins / 34
* Ghosha / 1Y

(70)



* Kakshivat / Feftaa

e Patanjali / UdSiiel
Correct Answer :-Patanjali / Gdoiiel
73)

Question Stimulus :-

A man traveled a distance of 61 km in 9 hr. He traveled partly on bicycle at 9 kmph, and on foot at a speed of 4 kmph.

The distance traveled on foot is: /WﬁﬁslwﬁWQﬁﬁﬁlmWWmeﬁ
T § AT S W Bt a7 4 et yferder &1 1fa & Uga 31 | Uga A= o3 W Fa# | fwa- g aa e

e 16km/ 16 fopell
® 25km/ 25 fHHl
* 30km /30 fopdt
® 45km /45 foel

Correct Answer :-16 km / 16 T}

74)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 9§ ICEgR f{ﬁ'ﬁ

Si 33 T HYAT R el & IR | Agl 8

Statements: / ®YA:

Some clocks are lighters. / $© uf$al @ger g1

Some lighters are clocks as well as cars. / $© dge: US4l 8 ¥d 1R 4t T

Conclusions: / fAp:
i. Some cars are clocks. / T B gi3ar g
ii. Some cars are lighters. / $© $R @8R 8

e If only conclusion I follows / af¢ Faa sy I Aepaar 3
e If only conclusion II follows / af¢ Faa sy 11 fAear
* If both conclusion I and II follows / af¢ FeHY 1 3R 11 g1 AP &
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® TIf none of the conclusion I and II follows / Tf& fepdreiRnad ﬁﬁ Tl Freaan %
Correct Answer :-If both conclusion I and II follows / af¢ frspd I 3R 11 giHY fAwed &

75)

Question Stimulus :-

A book seller buys 180 books at Rs.6 each and sells at Rs.8 each and 50 bags at Rs.78 each and sells at Rs.85.
Which item will give him more money through profit? / T J&idh faspar 180 W P TAD g T 6 F
feaTe @ Wiear 8 aUT TS & Tud 8 § d9dl § T4 50 Al I UA® AT T 78 & 79 | @l W
T 85 A 9<IdT g1 I N 9¥g gRT a1Y & =U & I 3ife U ured g

® Books /W
° Bags/aa

* Both /Gl

® None of these / 3TH | IS gl
Correct Answer :-Books / J&®
76)

Question Stimulus :-

Who among the following is winner of IIFA Award 2016 for Best Actor / o d g gday AT & ﬁl"! IIFA
RIPR 2016 T faoar &1 8

® Shahrukh Khan / RMg>W €I

® Salman Khan / HeHTH 9T

® Ranveer Singh / AR g

* Amitabh Bachchan / 3fHATH S+
Correct Answer :-Ranveer Singh / J0[GIR {8
77)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 93 IGEgY ﬂﬁ'&
sl iRl A SYAY 3R Freuf & IR # Tl 8

Statements: / $YA:
All chairs are ducks. / T4 $RiaT sv@ B
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Some chairs are elephants. / $© $RIAT a1t €1

All elephants are fruits. / 93 gft e €1

Conclusions: / fAs:
i.Some chairs are fruits. / $ FRIGT vd 1

ii.Some elephants are ducks. / 9 ET‘Zﬁ ER-IE%'I
* If only conclusion II follows / Tf Faa ey 11 Reaar @
® Jf only conclusion I follows / gfe Fad e 1 fAeradr %
e If both conclusion I and II follows / af¢ fsd 1 37 11 @1 FApad &
® 1If none of the conclusion I and II follows / af¢ frspd 1 ARIMAA ﬁﬁ T8I e %

Correct Answer :-If both conclusion I and II follows / af¢ frspd 1 3fR 11 41 fApaa @

78)
Question Stimulus :-

Find the next term in the series 12,6,11,6,10,6, / ST § AT g Td 'ﬂ“ﬂm
12,6,11,6,10,6,

Correct Answer :-9

79)
Question Stimulus :-

Who is the President of the World Bank? / fd2a &'& &7 31l 19 22
° JimYongKim/ﬁ'q'fﬁTl"ﬁfq
. BanKiMoon/Wﬁ‘ﬁ

® Strauss Kahn / E"Il'\"-[ CaE|
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* Kaushik Basu / PIR0® 9Y
Correct Answer :-Jim Yong Kim / 319 @7 fq
80)

Question Stimulus :-

The country that shares longest border with India is ./ YTIRd & 919 999 @al JHAT G CIe|
qrerT o § g

® China / 919

® Bangladesh / TATCRT

® Nepal / AUTd

® Pakistan / UTfohedT
Correct Answer :-Bangladesh / ST
81)

Question Stimulus :-

Which committee was set up to explore alternatives to pellet guns in Kashmir? / HIHR # tee 79 & fawe

dareH & fog few A& o1 wo fopar war ur?

® Srikrishna Committee / WEUT FUE

® TVSN Prasad Committee / SIdITHET UITE HHCT

e Anil Goswami Committee / 3f-IdI TRATH! HHET

® Nippendra Mishra Committee / ﬁ'av_ﬁ' firem wA&
Correct Answer :-TVSN Prasad Committee / ¢IAIGHET YHIE HHIT
82)

Question Stimulus :-

Madhya Pradesh earns a significant amount in foreign exchange from: / ¢ Y% 59 wud 4 fag=it gar &

U HEeaqui IR AT R
® Rose /dE
e Cotton / PUH

* Soya bean / ARSI
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* Groundnut / TGl

Correct Answer :-Soya bean / JAmE

83)

Question Stimulus :-

Which of the following states is NOT on the border of Odisha? / BEEK:] I T I Gﬁ_{-ﬂ'-'Z'IT CIRIE | 7'|_(apf %"
® Chhattisgarh /@T‘ﬂw

* Jharkand / REUS

* Bihar /{98

® West Bengal /qﬁﬂ:[ CEI ]
Correct Answer :-Bihar / fa@R
84)

Question Stimulus :-

Mahatma Gandhi tried for many years, but what was finally created by Gangabehn Majumdar? / HeTHT G

®5 qUI aP DI BT, AfhT 3iad: T AHSR FRT FT TATIT AT UT?
® The word ‘Harijan’/ Req ‘BﬁVF'['
® Wooden sandals / @S'IT»""
® Charkha /TR
® Rimmed spectacles / TrATY are a=uT
Correct Answer :-Charkha / IRl
85)
Question Stimulus :-

Find the next term in the series. / ST H 3Tl g JTd aﬂﬁrl'ql

6 5 4
[t _.‘?

1114717

| o~

o |~
M| o

(75)



2 3
. 75
3 4
e 87
20" 23
[ ]
3 2
20 23

Correct Answer :-

86)
Question Stimulus :-
MNREGA stands for . / MNREGA & dT0d @ |

® Mahatma Gandhi National Rural Education Guarantee Act / HglHT W Ay A E@QF‘T MRS Qﬂ?

® Mahatma Gandhi National Rural Employment Guarantee Act / HGTHT TR Ay Td W‘Iﬁq’ﬁ? MREL

T

® Mahatma Gandhi National Right Empowerment Guarantee Act / HBTHI e g N ET Q'Fqﬁ?'ﬁl? TRl

® Mahatma Gandhi National Right Employment Guarantee Act / HelHT e Ayd 3T mlﬂﬁ? MREL

Correct Answer :-Mahatma Gandhi National Rural Employment Guarantee Act / HGIHI T YT =
TEATgHE TRET T
87)

Question Stimulus :-

Which monument has a diameter of 14.32 metres at the base and about 2.75 metres at the top? / 59 WIR® & SMUR

ST 14.32 Hiex § 3R M ST AT 2.75 Hex 32
® Lotus Temple / PHA TfeR
® Sanchi Stupa / GIE] 4
® Qutb Minar / $dd R
* Gol Gumbaz / T® RIS 1Y)
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Correct Answer :-Qutb Minar / $gd HHR

88)

Question Stimulus :-

In a certain language ‘dona hona khona’ means ‘send by post’ and ‘demk dona delf’ means ‘ beyond red post’ . Then in
that language the word ‘dona’ is used for: / o<t @RI YTYT & ‘dona hona khona’ BT Hded % ‘send by post’ 3R
‘demk dona delf’ BT Hddd % ‘beyond red post’ | a9 HTuT A Yot ‘dona’ s?ﬁs ﬁ'I'E TART ﬁ_dT %:

® send

® beyond
® post

® red

Correct Answer :-post

89)
Question Stimulus :-

‘Global Tiger Day’ is observed on which day? / 9% sTg feaw feg fo w=maT Smar 82
e July 27th / g@TS 27
e July 29t / J@1g 29
e July 17th / g@1s 17
e July 19t / J@1g 19

Correct Answer :-July 29th / S@rs 29

90)

Question Stimulus :-

Akhil left home for the bus stop 20 minutes earlier than as usual. It takes 15 minutes to reach the stop. He reached the
stop at 09.45 am.What time does he usually leave home for the bus stop? / a4 T WU & ﬁiﬁw Eﬁ@T
I ¥ 20 fiFe Ugd | WU R Ugaq & fow 15 fFe @ €1 98 WU W ue: 09:45 W Ugd T4l fFa
A 98 HHIRIE: o9 T & I o Sisdar 82

® 945AM / UTd: 9.45

® 9,50 AM / Uid: 9.50
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® 9.55 AM / WId: 9.55

® None of the above / SR ﬁ'@f T8

Correct Answer :-9.50 AM / UId: 9.50

91)
Question Stimulus :-

Prime minister of India who was born in Madhya Pradesh is / YIRd & UUTFHAT FoF®T o707 A& a1 § BT UT

® A B Vajpayee / ETSﬁT:I'ITrI'a'd’T

1K Gujral / 3§ & ToRRTd

* HD Deva Gowda / Td St ¢d ST

* PV Narasimha Rao / W} §t TRR¥%e1 319
Correct Answer :-A B Vajpayee / T &I arigdl
92)

Question Stimulus :-

When Sarthak looked at his watch, it showed the time as 4:30. If the minutes hand points towards east,
then towards which direction will the hours hand point? / 5id Tl 7 et gt ¥ ¢, @ SE 9Hg

feamar 4:301 afe frie 1y gd &Y 3R THhd Bar &, df {5 Rz F @ik gver 71 Iddba Ham?
® North / 3R
® North-East / STR-d
 South-East / Sf&ml-qd
 North-West / STR-uf3m
Correct Answer :-North-East / 3WR-Ud
93)

Question Stimulus :-

Which State government in India has recently launched ‘Smart Village’ program to improve public facilities in the

villaggqq%mé?mwwﬁmﬁﬁmﬁﬁﬂﬁﬁrﬁa?gﬁmaﬁﬁgwa?m-mﬁﬁa\—:r'a?rdam
= ?

® Madhya Pradesh /T[?IIFI%QT
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* Tamilnadu / AfEATg
° Karnataka/m

® Gujarat / [IRTd

Correct Answer :-Gujarat / J[eIRTd

94)

Question Stimulus :-

In the sequence shown below, which figure comes next? /T feard T 9 § STat Gﬂ?ﬁ P It gIeit?

A
/N A

ii iii iv

—

[ ]

>

L]

Correct Answer :-

95)
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Question Stimulus :-

In how many ways can 5 balls be selected out of 12 balls? / 12 7igl & & 5 gl ®! foraq TSR T T 9T DT 82
. 924
. 495
o 792
® None of these / TR A HIS I
Correct Answer :-792

96)
Question Stimulus :-

CANCELLED

A is the brother of B, who is the mother of C, who is the husband of D, and who is the
daughter-in-law of E. How is E related to A? / A, B &1 4TS &, Sif C ®1 |1 g, S D &7 Ufd 8, 3%
Sl E $TIg 81 E, A I $ TaR 82

® Father / e

® Mother / ATl

® Brother / 'H'Ig

® Brother-in-law / aﬂ?

Correct Answer :-Brother-in-law / Sa%

97)
Question Stimulus :-

In the following question the first word has certain relationship with the second word. If
the third word has to have the similar relationship with the fourth word, the fourth word
will be: / T 7y ¥, U8Q g BT g Ve & WY 5l TR A FIE Tay 21 afe TR g o1 918 Uk &
1Y I YHR FHT HaY AT A1RY, ¥ FIUT e FNT:

TRAIN : STATION : : AEROPLANE : ? / Y@ TSl : WX :: fA0M & ?
* AERODROME / faamargt
* HANGER/BR

e AIRPORT / Q9™ U=
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® None of these / Eq'ﬁ | ﬁ% Tl

Correct Answer :-AERODROME / TauT3r3T

98)

Question Stimulus :-

A + B means that A is B’s daughter. / A + B ST Adad ¢ & A, B &1 31 21
A x B means that A is B's son. / A x B &1 Hdad ¢ f& A, B &7 31 21

A - B means that A is B’s wife. / A - B 1 Hdqd & f& A, B ®1 Uall €1

If the relationship P and S is represented as P x Q - S, then, which of the following is

always TRUE? / Tf¢ P 3R S & &9 &1 T4y P x Q — S & I=0ian 7an g, Y, e & @ o171 g9z Iy 82
e Sis Q’s wife. / S, Q &I Udl g1
e SisP’s father. / S, P& fuar g1
* Pis Q’'s daughter. / P, Q &1 9d1 g1
e Qis P's father. / Q, P & a1 &1
Correct Answer :-S is P’s father. / S, P & fUa1 €1
99)

Question Stimulus :-

How is my sister’s father’s father’s brother related to me? / ad de+ & fUar & fuar &1 'l-l'l'sf 'ﬂ'ﬁl@ Y Hefyd
G

® Uncle / 3{[®d

® Grandfather / GIGI

® Granduncle / GIGI(PT 'J-I'I_Sf)
® None of the above / SURTEI ﬁ'ﬁ% T-Iﬁ

Correct Answer :-Granduncle / GIEI(PT HTS)

100)
Question Stimulus :-

Which of the following is the mirror image of GLASS? / 9 § 9 ®19 T1 GLASS &7 guur ufafaw %?
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. Qrvee

o CIVEX
o | CI'V3E

o ClLNZ2

Correct Answer :_(}I‘VBE
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